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Wﬁ?ﬂ:
i) @Y 9T HEE & | 3G F97-97 H FT 26 T3 & |
(ii) STYHH-YTH5 YT §: @V 37, @S §, VS G, TV ¢ 37N GUE T |

(iii) @EHHFE5IHE TIF H1 HFE | TS THSE JIHE JIH 2 HF & /
GUE F H 12 Y97 &, I9% & 3 3% & | GUE § H 4 37% FH Uh IR F94
BN @GS THY Yo7 8, b & 5 3P 3 |

(iv) Y97-97 § GHT W HI3 Id5hcq 761 & | T4, 3 7Pl dicd Th 97 H, di7 JHl
JIct Uh Y97 H 37K i 37eb1 Jict di+41 J991 7 7=k 97 YeT7 137 =T 8 |
08 Y971 4 37791 130 T TI7 § @ o7 Uh J97 51 HT & |

(v)  ST&T HF¥IH & T [T Hifds [Haarb] & Tl 7 I9I1T H THd & -
¢ =3 x 10° m/s
h=6-63 x 10734 Js
e=16x10"1°C
n, =47 x107' Tm A~*

el =8-854 x 10712 C2N1 m

1

4 e
O

m, = 9-1 x 10! kg

=9 x 10° N m? C*

<M 1 geIHH = 1-675 x 1072 kg

TIeiH ol GeIHH = 1-673 x 10727 kg
ATANTG! T&AT = 6-023 x 1023 gid U™ A
Siegadl™ Idre = 1-38 x 10723 JK!
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General Instructions :
(1) All questions are compulsory. There are 26 questions in all.

(11)  This question paper has five sections : Section A, Section B, Section C,
Section D and Section LK.

(111) Section A contains five questions of one mark each, Section B contains
five questions of two marks each, Section C contains twelve questions of
three marks each, Section D contains one value based question of
four marks and Section E contains three questions of five marks each.

(iv)  There is no overall choice. However, an internal choice has been provided
in one question of two marks, one question of three marks and all the three
questions of five marks weightage. You have to attempt only one of the
choices in such questions.

(V) You may use the following values of physical constants wherever
necessary :

¢ =3 x 10° m/s

h =6:63 x 10734 Js
e=16x10"1°C

U, =4nx 10" Tm A

g =8:854 <1107 C*N1m™

1
4me
O

=9 x 10 N m? C™

m, = 9-1 x 10! kg
Mass of neutron = 1-675 x 107%/ kg
Mass of proton = 1-673 x 107’ kg

Avogadro’s number = 6-023 x 10*° per gram mole

Boltzmann constant = 1-38 x 10723 JK~!

P T4
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SECTION A
1. ¢ q9uq (Th-H) fohq 199 Uil & 97 A 99T B [T I — V IT% (3AT0rd)
Je U T 8 | &1 a1 § § Tope aTereh ahl STaiaehal 31 8 2 1
A A
IA B
O V —> g

I — V graph for two identical conductors of different materials A and B is
shown 1n the figure. Which one of the two has higher resistivity ?

A A
A
T B
>

0 vV 5

2.  ‘IIEEN YRT Ue hl YRATNG shifvu | 1
Define the term ‘wattless current’.

3. HOR YT H YAUEdeh] bl 3TN AT il 8 ? 1

Why are repeaters used in communication system ?

4. I3 TpW01 3@ H T AB Ush @H | %Ud Hdl & | 9d13¢ {6 I8 <9 39dd
2 T 379dd | 1

55/2/MT 4

@
&collegedunla;
India’s largest Student Review Platform

—



The line AB 1n the ray diagram represents a lens. State whether the lens

1S convex or concave.

5. Gl gATcH AW Th-gol 8 9 gl W Od 3 | 3ok Rl forgd-&a @it <l
=T shifoe | 1

Depict the electric field lines due to two positive charges kept a certain
distance apart.

Qus o
SECTION B

6. hid o Ush [UsH ol I ‘A’ & | ST Teh BoToh G AT JehISM <hl Teh fohlul
&1 MY T 2A-8 | TISH & 379afdd fortor 3ueh faudid baash O Tohird! & ol
wifad (Tehien) 2 | 3ed quefdd feer &t ant W ave =t St 8 1 39
qREeAT o [T Toh{0] AT SF18T qdT TISH o Ui o 3AYad-reh a1 TUsH
IV o Se T JTd hioT | 2

HAAT

30 cm HIhE g o 3T 9H H Teh o9& 40 cm L W 3 | Il 3T A qA
gidferes o sfT= 50 cm ®IHE G I Fadd ©H 39 39 F ¥ 20 cm U W
g feam Sman 8, 91 399 Uidtars <61 feufd § gfgdd 39 shifoe | 2

A ray of light incident on one of the faces of a glass prism of angle ‘A’ has
angle of incidence 2A. The refracted ray in the prism strikes the opposite
face which 1s silvered, the reflected ray from it retracing its path. Trace
the ray diagram and find the relation between the refractive index of the
material of the prism and the angle of the prism.

OR
55/2/IMT 5
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An object 1s placed 40 cm from a convex lens of focal length 30 cm. If a
concave lens of focal length 50 cm 1s introduced between the convex lens
and the 1image formed such that it 1s 20 cm from the convex lens, find the
change 1n the position of the 1image.

7.  F& g9t U qfmy 3@ U, AB THEHH HICR d97 1 m TS 1 Tk dX 2
3R 3He Uil 15 Q 8 | I8 R 2 V Taq-a18s §dt (3.TH.T%. ) qdT 10
AT=Aeh Jiig o Teh A E; aUT Toh Yl R § JST 2 | Uh 17 ¥A E, b
T wde fog, T A 9 30 cm gl W UTed BT 8 | e ¥ E, 1 fogd e

9 (3.0H.T%.) 75 mV 8, d IfdU¥ R &1 HH T hild | 2
K4 R
| ANMAA
A S B
i g@

In the circuit diagram shown, AB 1s a uniform wire of resistance 15 Q
and length 1 m. It 1s connected to a cell E, of emf 2 V and negligible
internal resistance and a resistance R. The balance point with another
cell E, of emf 75 mV 1s found at 30 cm from end A. Calculate the value of
the resistance R.

K, R
| ANV

8.  TYUAI AU o-hUIl ol FHH fo9Ua GHRI @id fohdT AT 8 | 3 gl & drelg
¢ STl qUICEAT | AU FTd <hIfT | 2

Deuterons and o-particles are accelerated through the same potential.
Find the ratio of the associated de Broglie wavelengths of the two.
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9. = fau mu @ | foret qeATY] % Sl w gwie MU E |

0eV

-1 eV l
A B C D E
-3 eV = *
-10 eV ¥ <
TH T HiI-H GehHU ATSHA a7 ST AR 6 fiu 8 ? ST8H e ST o
! =[AdH TG 1 AU UiehieTd hHIFT | 9
The energy levels of an atom are given below 1n the diagram.
0eV l
—1 eV
A B C D E
-3 eV v v
=10 eV Y Y

Which of the transitions belong to Lyman and Balmer series ? Calculate

the ratio of the shortest wavelengths of the Lyman and the Balmer series
of the spectra.

10. M HIgioTd fohel qUT o1 Afehad M 10 V T =[Had ™M 2V 7 |

g HAhIeh T A FTd hITIT |

afe =Han =W I e B, Al p 1 TF F=9 B ? g T Sl ST

Teh (1) ¥ A =1 [T TGl & 2 9
For an amplitude modulated wave, the maximum amplitude 1s found to

be 10 V while the minimum amplitude 1s 2 V. Determine the value of
modulation index p.

What would be the value of p if the minimum amplitude 1s zero volt ?
Why i1s u generally kept less than 1 ?

55/2/IMT / P. T,
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11. (a)
(b)
(a)
(b)

55/2/MT

Qus ¥
SECTION C

TS o 0 B Yehml-fagfd 3cdsid d Trelg Hol IRENS TshH ol
q& § UM HIfT |
S fohell JeRTSI-Hagl 9e1Y T v AT shl Jehrel gl (TeRIfUra BIdm) 2,

al IcANId STl ehl AfUehad =T ol V. © Tehe TohAT ITal & |
Sgfd v 6 T V2 % A H aiadd (foee) @ s § gt m

g |

IMEHCET o YhII-TaE[d FHIRWT o ITAM & (i) b Eeh qol
(ii) TeU U SH YehIe-Had! Jered o hid Bod o U =Sk, U=l [, n
T SIS oh GSIUH m o 9gl H JTed shifwig | 3

Give a brief description of the basic elementary process involved in
the photoelectric emission in Einstein’s picture.

When' a photosensitive material i1s irradiated with the light of

frequency v, the maximum speed of electrons 1s given by V___ . A
plot of Vﬁmx 1s found to vary with frequency v as shown in the
figure.

A

2
Vmax
0 < nNn—
>
Zl __ﬁ__..--*"'; V >

Use Einstein’s photoelectric equation to find the expressions for
(1) Planck’s constant and (1) work function of the given
photosensitive material, in terms of the parameters /, n and mass

m of the electron.
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12. TorHl n-p-n R & INITSS Icdsish fa=mg | e qoun fia safiraeton =
ISR B b [T IRUY G AU | G987 H TIF hiloU Toh I TGEAT
g, Tt grfoet o aedt fas/frta stfsrenerfores as gea @ & fou o
fora ar 2 | fa/fta ashi St wehfa i gurie o fore o sATET | 3

HAAT

qui GO fqseshil @1 Teh AMIfehd UHUY R@ ST | 36H Tk (379:3MH)
g a1 3Gehl R i WA | AT 91 T71d qUREYl i gUI1ST |

g (Theefan) | |y 1 YiHehT 1 9&9 § U HIfT | 3

Draw a circuit diagram to study the input and output characteristics of

an n-p-n transistor in common emitter configuration. Kxplain brietfly how
this arrangement 1s wused to obtain the typical 1nput/output

characteristics of a transistor. Draw the graphs showing the nature of

input/output curves.

OR

Draw a - labelled ecircuit diagram of a full wave rectifier. Explain its
underlying - principle and working. Depict the 1i1nput and output

waveforms.

Describe briefly the role of a capacitor in filtering.

13. GTSFACH ohl SIILYT @I ST | $Hh] hIPRl Hgd W8 HiwT | 39
U39 shT IUANT TR hUIT ohl caild {4 H hd BT &, I8 <A o o4
3ATIYTh TV esTeh Ao ShiTiT | 3

Draw a schematic sketch of a cyclotron. Explain i1ts working principle.
Obtain the necessary mathematical expression to show how this machine

1s used to accelerate charged particles.

55/2/IMT 9 P.T.O.
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14. 100 Q % U JiaUgsh adl 100/x uF o Wb G4 sl 220 V, 50 Hz <l
T.H. (a.c.) T8 © SIS T 2 |

(a) YUY ¥ Tag[d 9/ & A 1 YR hifT |

(b) YfdUYess dUT YT & U o &9 (rms) diced] & A I Tieha

shIfSTT | &1 39 2F1 dAieedlsTl ohl SSHTuTdT JNThA, Fid shl dicedl o
At 2 2 afe &, a1 19 38 fotiamy ™ 61 G Y S 2 3

A resistor of 100 Q and a capacitor of 100/n uF are connected in series to
a 220V, 50 Hz a.c. supply.

(a) Calculate the current in the circuit.

(b)  Calculate the (rms) voltage across the resistor and the capacitor.
Do you find the algebraic sum of these voltages more than the

source voltage ? If yes, how do you resolve the paradox ?

15. Tordll ifceeh =eteh o & o st V f99d ARIMIG hid T AT ahl qieel
Y "fed Bt =, T&Y H Tse AU | 368 A A8kl % AYATE o UG
T AT S ewieu foh O e § 4o SRR e E % o
=ieTigd a9 2

— —
] =ock,

&l 6 YeTY shl STcThdl hl TIHTNT SHidT 2 | 3

When a metallic conductor 1s subjected to a certain potential V across its
ends, discuss briefly how the phenomenon of drift occurs. Hence define
the term ‘drift velocity’ of charge carriers and show that the current

—> —>
density j 1s related to the applied electric field E by the relation

—3 >
] =ock,

where o defines the conductivity of the material.
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16. I Thavll qul

y, =a cos ot, y, = a cos (ot + ¢)

o LYY s HRU {ohel Toirg T GROMTHT il & 0 =a5/es 7igy, @l ¢ @
AU o S heAT=X 3 3R a AT o SHH: 3T AT AT VT I 7 |

I % Tk Tg-fadt i §, ) qresd o Wehaull YehTeT T YA fohdT SITdT @ |

9e % U forg W, ST&T 9AT-R A 8, TehT¥T <l dierdl k 315 8 | UG oh 39 forg T
fteraT 3ITd <hifolu, ST&T W 9= A/4 & | 3

Write the expression for the resultant intensity at a point due to the

superposition of two monochromatic waves

y, =a cos ot, y, =a cos (ot + ¢)

where ¢ 1s the phase difference between the two waves and a and ©

denote the amplitude and angular frequency.

In Young’s double slit experiment using monochromatic light of
wavelength A, the intensity of light at a point on the screen where path

difference 1s A-is k units. Find the intensity at a point on the screen
where path difference is A/4.

17. hoUAl hIfT Tob 3TMUehl ¥ed (ATTSAT) TR TWH W Teh FoAddi-eh Hohd hl
Hie g feurd fordll TU deh THTRA A1 2 | 36 &Fe-g | diH Y@ hehl hl
&Y 4 9uiA HIT ST 39 38 R H Th[AE STAAd & a1 T HiIfWY foh 3
hTeh! sl AT hH G HU[ ? 3

Suppose you wish to transmit an electronic signal in the audio frequency
range over a long distance directly. Write briefly the three important
factors which prevent you from doing so and explain how you overcome

these factors.

55/2/IMT 11 P. T,
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18. (a) GoUHM &A1 % %oH % &4 H Ud JFAAH F€9 HaAl o fd=eH
(afEd) # o % fu us WE SRT | W e %
30 < A < 170 U § 99 oAl Yid I[FA3TH 1 HH AR Y
I &1 3 | 39 A2 ! AT AT §cAl & -0 TOrgH gRT 2

g ?
(b) TRl YSTUFeT AT ‘A’ ol & (Ta=ed) viishd 4 f=Thd TR °
Bl &

A OL>A1 B)Az Y)A

3
Iid Ag 1 ZoIHM AT AUT GHTU] ShHTeh shHS: 176 AAT 69 &, dl A hi
GoAHT HE&IT T YLHTY] hHTeh JTd hitaiT | 3

(a) Plot a graph showing the variation of binding energy per nucleon
as a function of mass number. Which property of nuclear force

explains the approximate constancy of binding energy in the range
30<A<1707

(b) . A radioactive nucleus ‘A’ undergoes series of decays shown in the
following scheme :

0

A >A1 P > A

Y
9 > Ag

If the mass number and atomic number of A; are 176 and 69

respectively, find the mass number and atomic number of A.

19. 3ITYF ARG I TEEAl § &Y T qUMH hitaC Tob 1 BIal & Sfe AYfad Thml
¢l T9EH Uiciiss] © Bt oAl 8 oaH 98all dlieiliss 3191 fedfd o eor &
2 3T g8 hl U8 % HU& AR SA1 8 | g d91 favaiveh o o= 0 W
QI ehTeT <kl digrar shi fysiear st e & foie wes 7w w13t | Tse i
foh digrdT o 39 o= (diadq) ot Hae a9 O Sy us 1 9ehdl 2 | 3

Discuss briefly, with the help of a suitable diagram, what happens when

unpolarised light passes through two i1dentical polaroids where the
orientation of one polaroid 1s fixed and the second 1s rotated with respect
to the one. Draw a graph showing the dependence of intensity of
transmitted light on the angle between the polariser and analyser.
Explain clearly how one understands this variation using Malus’ law.

55/2/MT 12
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20. 600 pF & Uk TUME ! 200 V hl TeATs o TATRTd fopam Srar 8 | ot ot
oS ¥ B2 300 pF o Ueh 37 IMERIG GuiE 4 S fen S 8 | 39
gishal W fER-alggd ol 1 fohdl T g3, IRehe HITWT | S hl 38 BT H
grd (ShTOT) 1 8 2 3

A 600 pF capacitor is charged by a 200 V supply. It is then disconnected
from the supply and 1s connected to another uncharged 300 pF capacitor.
Calculate how much electrostatic energy is lost in the process. What 1is
the source of energy loss ?

21. TfIigd JR hi foEq-graen ™ il fhd YR 344 3idl 8
(i)  g&H qal
(i)  AITH qT

Iwh faerq-grashg fafemon & 31-a) yq@ 3w ferflaw | 3

How arethe following types of electromagnetic waves produced :
(1) Microwaves
(11) -~ Infra-red waves

Write two important uses of each of the above electromagnetic radiations.

22. p-n Y TS & W (i) JUCRG q¥F qAqT (i) IvECRe a=¥F H, V-1
AT I5h o TSI & [0 ROy =IaedT sEET | fEfded gre & v
TEdl V — I 3THAT&I0Teh dsh SA15Y |

ffeiga get =1 99 1 9uiH hifu
(1) e a9 U “3Te9Ty a1 37d: 8907 (5aw)”
(i)  gvafe™es 9=E ° “YsH dicedr 3

Draw the circuit arrangement for studying the V — 1 characteristics of a
p-n junction diode (1) in forward bias and (11) in reverse bias. Draw the
typical V — I characteristics of a silicon diode.

Describe briefly the following terms :

(1) “minority carrier injection” in forward bias
(11) “breakdown voltage” in reverse bias
55/2/MT 13 o &1
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QuE q

SECTION D

23.  GifUshl 3R Bl I ITeh R1&h  TeaqHIet o ITAM & Th JAM i
$gl | TIM i § Yd g1 Taeneli I8 S bl 3cgeh o Toh Teh B § 199 o
AR T 3% feU MU Teadmiet o fofye 9amm ®=&1 8 | 3=/H A1 Wieeh d
Moo HIHIE ohl WicTeh @ hl TR | | TR1eqeh 4 1 |iem fob AeaAIHIeT ol
gl el o FHA QiTHT Teh 37Tl o= 8 | 37aid Tea-IHIet shl GicTehl 38eh!
TAT YT HRTATY I T HET Tl TS |

3T TUTH o IMYR W, F=faad 9o & 3T €T 4

(a)  3TUeh foER § GIYSHI, Feehl I 3ok R1&7eh GRT Tohe T[UTT BT TE9H TR
T ?

(b)  TeadHTHIEX o h1d hid o Wgrd ol &89 ¥ fafgu |
(c) S99 JITh IFeeh [ohd AT bl 8 AN 3H 3 ATHR 1 91 S=T AT 8 2

Deepika and Ruchika were asked by their teacher to perform an
experiment using a galvanometer. Before doing the experiment they were
very keen to know the different parts of the galvanometer which was
given to them in the form of a small box. They approached the teacher
and asked for the permission. The teacher thought it would be a good
1dea 1f the galvanometer be opened before the whole class and explained

1ts construction and working to all of them.
Based on the above paragraph, answer the following questions :

(a) What, in your opinion, were the qualities displayed by Deepika,
Ruchika and the teacher ?

(b)  State briefly the working principle of the galvanometer.

(c) What 1s the shape of the magnets used and why 1s 1t so designed ?

@
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dus

SECTION E

24. (a) ToREl URATITHRT S, o TUE Teh AT URATITHRl S; o AT YTehcd h
37 TS HiIfSU |

(b) Gl Hehigd JaAThR hslerdl i AT SHH: ry U1 ry 8, A8 1] << To.
3o 39 ThN GHIE T 71 & foh 39eh g Toh-gHL o W USd & | 39
ST oh AT Ylehed oh [0 SSTeh YTod shIfolU |

()  Weh WA SHIEAT H 1 HHIE Hefetdl C,; T C, Teh-go o HHI=I Tl
T 8 | $eell Cy ¥ foggd 9w 1, o 9iadd & &d $edl ¢, H Iid
forgd-ames o (3.TH.TH.) = fOIQ sgsf Ured <hifse, I C; # d/
Tl bl FEA N, B 3 Cy ¥ Ny 3 | 5

AT

(a) UFI R GRS W 1 3Ig@ shifolw | o3y foh fohdl 3=, @Y
AT T 9eTdl R s S8 3HE r gl W graehid &9 B TRRE & e
3GHT AF B = p I/ (2nr) BT 2 |

(b) I8N ANE@ H ST T fhel oTFel HY SRR dR <hl Jlh TITEY-h1E

$I TSI a 8 | 39 AR I IAEI-FE ¥ Tagd 91 [ THeaaH ®9 9
faiid 2 | 388 r < a AT r > a &F H FrehF &F B s HMH 1 Tieheld

$ISIT | R b sheg § Gl r AT B o= Tk U1 SHIST | 5
~ W)

@
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(a)

(b)

(c)

(b)

55/2/IMT

Explain the meaning of mutual inductance of a solenoid S; with

respect to the solenoid S,.

Consider two concentric circular coils, one of radius r, and the
other of larger radius r, (r, <<r,), placed coaxially with centres
coinciding with each other. Obtain the expression for the mutual

inductance of the arrangement.

In an experimental arrangement of two coils C;, and C, placed
coaxially parallel to each other, find out the expression for the emf{
induced 1n the coil C; (of N, turns) corresponding to the change of

current I, in the coil C,, (of N, turns).

OR

State Ampere’s circuital law. Show that the magnetic field B at a
distance r outside the straight infinite wire carrying current I is

tangential-and is given by B = p I/ (2nr).

Consider a long straight cylindrical wire of circular cross-section of
radius a, as shown in the figure. The current I 1s uniformly

distributed across this cross-section. Calculate the magnetic field B

in the region r < a and r > a. Plot a graph of B versus r from the

centre of the wire.

10
A collegedunia

—




25. Weh RS- S shl RIS ‘@’ AT BT o 8 | $HHI ohrg HA-forg W B 3T
SOhl A, x-AH b QY g NEH THHI T Hash ’IN@ ¥ @MU T
HIEN, x = +a/2 WAAT g, x = —a/2 W €0 8 | x-HAY % GH Th
ThaqH TIgq-&9 39 JehR IR 8 T E - EOEX> 0 &% T 3TN
—> A
E=-E;i x<0% T |

y-31&]
/N N
EP —>—E
< - 0O > X-3H &l
\/ -~
< X=—-a/2 >|< X=a/2 >

3OY FAdH @l HM A hIGU, S o (1) THdA Bolehl 9 gl IH dTd,
(i) 9k U5 H Bl ST dTcd | et H Bleht SITeL ohl AN A2 Foiad b1 g ao
S b HIAL 92 S TehddT B 2 5

HAAT

(a)  TRH] HHI=R Yigehl GG o Gl T8 GHAA FHI-IL TATeTehl o YSSII HTa9
Ycd ShEN: + o AdT — ¢ & | ¥ THaid § Ush-gEl ¥ 319 gt W feud 7 |
T3y W % 3TANT ¥ sy
(i) QI dfgehrl o aTad & | foRd-a I e,
(i) Al gfgemat & e fiqtt & o faea-am o/, B |
Y TG Ulgehl TYTI hl GTHAT o oIl Ssfeh ITed shiforg |

(b) TS HITIT Tob TYTNH <hl Gl UlgehlAT b &Id oh M H k LA oh
Teh UGEd Ug! ST o ° HHfeiRgd W &1 99 E 81

(1) W’Eﬁq q_{a
(ii)  FYTF <hl 9TET 9T | 5

55/2/IMT 17 P. T,
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A right circular cylinder of length ‘a’ and radius v’ has its centre at the

origin and its axis along the x-axis so that one face is at x = + a/2 and the

other at x = — a/2, as shown in the figure. A uniform electric field is acting
parallel to the x-axis such that ﬁ = K i forx >0 and E = — K, i for
x < 0.

y-axis

L N
B <— —> |
< O : > X-aXI18

\/ \/
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Find out the flux (1) through the flat faces, (1) through the curved surface
of the cylinder. What is the net outward flux through the cylinder and the

net charge 1mside the cylinder ?

OR

(a) Show, using Gauss’s law, that for a parallel plate capacitor
consisting of two large plane parallel conductors having surface

charge densities + ¢ and — ¢ , separated by a small distance in
vacuum, the electric field

(1) 1n the outer regions of both the plates 1s zero,

(ii) is o/e, in the inner region between the charged plates.

Hence obtain the expression for the capacitance of a parallel plate
capacitor.

(b)  Explain what is the effect of inserting a dielectric slab of dielectric
constant k in the intervening space inside the plates on

(1) the electric field,

(11) the capacitance of the capacitor.
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26. (a) 31Uk IS UE o YehIIeh GGkl H IHGIAhI hl =F hid H fohd
& i ! €M H TEHT MY ?

(b)  Tordl qUrerdi grawier g Widiersl sl §A1 S3H o ol Tk fomtor 3@
SHTST | SHehI STYH GHAT T 3 ?

()  IT9adl gLaRieh <hl Joil H qUed] GLaRieh o RIT-HIT AT & ? 5
GOC||
(a) HME GINH | fhel OY® geueell grRI Jidiersl &1 sH1 g91H @ o1y
Teh TohTUT 3@ &HTET |

(b) @l Torgatl & off9 o 39 I YR (qh) & 0T Tk =I5 e
hifore, form gl o feor &7 g forgadl =l U gamesll gerse <@ g |
36 g 1 TIHGH &HAT ¥ A1 GrEY 2 ? 39 hHIehl 1 ool hISY
8 fordt geraefl i faved &wdr § gig <l 1 &b | 5

(a) State two main considerations taken into account while choosing

the objective 1n optical telescopes with large diameters.

(b) . Draw a ray diagram for the formation of image by a reflecting type
telescope. What 1s its magnifying power ?

(c) What are the advantages of a reflecting type telescope over the
refracting type ?

OR

(a) Draw a ray diagram for the formation of image by a compound
microscope in normal adjustment.

(b)  Obtain the expression for the minimum separation between the
two points seen as distinct in a microscope. What 1s its relation
with the resolving power ? Mention the factors by which the
resolving power of a microscope can be increased.
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